Cauchy’s integral Formula for Derivatives of an analytic
Function.
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Solution Here f(z)=2’+6, and zy=-2, — f’(z)=2z and
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Example A323 Calculate § 327 +6 dz over a closed
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curve that encloses the point z=-2.

Solution Here f(2)=32*+6, and zy=-2, — ’(z)=6z and
P )=6 f(20)=6
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4d2 over a closed curve
c(z+ 2)

that encloses the point z=-2.
Solution Here f(z)=3z°+6, and z,=-2, — f’(z)=6z and
f’(z)=6, £7°(z)=0, 77(20)=0
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Example A325 Calculate

Example A326 Calculate
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4d2 over a closed curve
c(z+ 2)

that encloses the point z=-2. The answer is zero. WHY?

4dz over a closed curve

c(z+ 2)*
that encloses the point z=-2. The answer is zero WHY?
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Example A327 Calculate ig 5 5 dz overa
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closed curve that encloses the points z=-2 and z=-3.
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(z+2)%(z+3)* _(Z+2)+(z+2)2 +(z+3)+(z+3)2

_Az+2)(z +3)2 +B(z+3)? +C(z2+2)%(z+3)+D(z+2)?

(z+2)*(z+3)?

_Az+2)(z +3)2 +B(z+3)? +C(z+2)%(z+3)+D(z+2)?
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_ (A+C)z’ +(8A+B+7C+D)z” +(21A+6B +16C +4D)z
(z+2)*(2+3)*
18A+9B +12C +4D

(A+C)=1, 8A+B+7C+D=0, 21A+6B+16C+4D=0,
18A+9B+12C+4D=11
A=6, B=3, C=-5,D=-16
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